b1,

(A)
(B)

When |
Chess.
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[ L-ENGLISH )

. bhim, he was playing

5o
saw

\I()/ have seen

(D)

62.

had seen

Hemant could not reach the station in

tme owing to

(A)

(B
<)

(D)

63.

heavy traffics
heavy traffic
lots of traffics
much traffics

Which of the following is correctly

punctuated ?

(A)

(B)

’—/

(<)

(D)

(A)
(B)
(C

He said to me be prepared for the
worst.

He said to me “Be prepared for the
worst.”
He said to me, “be prepared for the
worst.”
He said to me, Be prepared for the

worst

Our Constitution recommends English as

a co;pulsory subject in education

a language of admission
iate official language

(D) a lingua franca

65.

Formative assessment does not help in

(A)
(B)

(©
(D)

identifying the learner’s weaknesses
in learning,
providing opportunity to the
learners to improve their work after
getting feedback. '
enabling teachers to modify
teaching-learning strategies.
enabling learners to secure good
rks.

66. The detailed and careful technique of
reading a text is known as ‘

(A)
(B)
\‘(S)/inlemive reading,

(D) extensive reading

skimming

scanning

67. She avoids
&)/40 go
(B) go
(€) going

(D) to going

there.

[ 68. Substifution table rillshélps the teachers
in .
(A) eloping free writing skills
¥ (B) evaluating the listening skills

: (9 imptovins fluency of learners

vag controlled language practice

69. The categorywise action verbs list was
developed by

(A) BS. Bloom
(B) RCEM approach
(C) Robert Mager
(D) _Robert Miller
70. They have been studying
t__(A) baed all day at home
(B) all day hard at home
(C) _at home hard all day

(D) hard at home all dav
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71.  Learning English in India is important 76.
because o

(A) it is taught in all English Medium
schools.

(B) it is the language of our powerful
colonizers.

(C) itisa foreign language. \
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a bike,
Neither of the boys a bike

(A) _has got

(B) was got

(C) have got

(D) has been got

Muxﬁ.ﬁgﬁ? :ou:ft:fu““e " 7 He gave me PO
' (A) an
72. Hema told me story, (B) a
(A) a fantastic ghost incredible (C) the
(D) many

)Mantasﬁc incredible ghost
LISF an incredible fantastic ghost
(D) an incredible ghost fantastic 78

73. Continuous comprehensive evaluation

He has been ill Monday last.
(A) to

emphasises _(B)_since

(A) product evaluation

(B) evaluation
\()(:r:ee:d evaluation '

(€ in
(D) for

(D) summative 79. When, in a specific situation, rules are
applied, we call the method
74. When a part of the word is spoken (A) deductive
. P d '
emphatically, itis called “}W Midicas
(A) pause s
(C) inductive

(B) intonation
M
(D) pronunciation
80.
75. He was ashamed his
misbehaviour,
(A) with

(D) correlative

There Sh()llld be a 'wOrd bﬂﬂk' in eve
; i
primary school because it helps build-up

(A) conception

(B) for (Bl —vecabulary \

QT

(D) in

(C)  writing skill
(D) reading readiness
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Read the passage carefully and answer the | 82. How is the job of a farmer ?
questions (No. 81 to 85) that follow choosing
the correct alternatives given : (A) Fleasant
(B) Strenuous
The bulk of our population i
' iy P P‘J is poor and (C) Delightful
illiterate, ult education poses a lot of
problems. On the one hand, there is shortage (D) Easy
of teachers for adult education and on the other
hand, the adults feel shy of starting to learn at
a late age. Moreover, as most of the villagers | 83. What do the village people find about the
are farmers and the job of a farmer is very education given at the adult centers ?
strenuous, an adult villager has little time to (A) The education is costly
spare for attending classes. In addition, he finds ‘
that what is taught at adult centers of education (B) Leamning is difficult
he is not interested in it. It is necessary to make
adult education more meaningful for farmers (D) The education has no bearing on
in the villages. It should be made useful and Chishy dndty visacis
work-based to arouse the interest of the adult
villagers. The teachers should adopt a system '
of education in which earning and learning go 84. :::v nﬁ:;:ld:g: sr‘;:;o;‘ be made more
together. Efforts to enhance adult education
will ultimately discourage the need to migrate (A) Itshould be useful and work-based.
to towns for better earning. (B) It should be cheap.
(C) It should not be strenuous.
(D) It should be enjovable.
81. What poses a problem for adult L
education ?
85. The word ‘bearing’ in the passage is
(A) Illiteracy i
(A) an adjectiv
(B) Poverty .
(B) an adverb
(C) Shortage of teachers 7
(D) Village environment (D) averb
YTt » ‘33‘
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Read the passage carefully and answer the
questions (No. 86 to 90) that follow choosing
the correct alternatives given :

Yet another great defect of our civilization
is that it does not know what to do with its
knowledge. Science, as we have seen, has given
us powers fit for Gods, vet we use them like
small children,

For example, we do not know how to
manage our machines. Machines, as | have
already explained, were made to be man's
servants; vet he has grown so dependent on
them that they are in a fair way to become his
masters. Already most men spend most of their
lives looking after and waiting upon machines.
And the machines are very stern masters, They
must be fed with coal, and given petrol to drink,
and oil to wash with and must be kept at the
right temperature. And if they do not get their

Page |18
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I'he machines, 86C ording to the writer, are

- in a fair way o become man’s masters
.

because of his

(A)_-too much dependence on them
St -~

(B) knowledge with which he manages

\ machines

(C) faith in the powers of the machines

(D) too little dependence on them
|

Machines must be given
wash with,

(A) petrol
(B) coal

€

(D) right temperature

meals when they expect them, they grow sulky | 89, According to the writer the machines
and refuse to work, or burst with rage, and blow must get their meals when they
up, and spread ruin and destruction all around them.
them. So we have to wait upon them very (A) demand
attentively and do all that we can to keep them ®B) e .
in a good temper, Already we find it difficult ‘“/,zpec
either to work or play without the machines, (€) want \
andatimemaycomewhenth.eywulmleus (D) usually get
together, just as we rule the animals.
90. - r 2
86. ____ does not know what to do e P In the passage means
with its knowledge. .
(A) Science \ Mmy
(B) Man (B)  tolose temper
(C) Machine (©) to wamn
OTET/P-1 (34)
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91.

92.

93.

360 & 69T QAR AW ER6O 7

(A) 20
(B) 22
(C) 24
(D) 26

Page |19

Sl - | A

(@§ie / MATHEMATICS

adioea 98 0PaIeR o8el aId 699 0888 | 92.

BORAS QAN 7
(A) zeQUQ
(B) QU
(C) Segua

(D) Q°6qaa

6OITY ZOINIQ TSR 0aQl 79 Aea | | 93.

IRIe QIGAINER QIF 699 TIN ACe] T6
2QI960 T 2244 ¢¢ 94 | @G0T cagae

6R60 7
(A) 8453 m?
(B) 8325 m?

91.

What will be the total number of factors
of 360 ?

(A)
(B)
(©)
(D)

20
22
24
26

Which method is adopted to establish
formula in Mathematics ?

(A)
(B)
©
(D)

Induction
Deduction
Analysis
Synthesis

A rectangular garden is 79 m wide. It
costs T 2244 to fence it at T 6 per meter.
What is the area of this garden ?

(A)
(B)
(©)
(D)

8453 m?
8325 m?
8532 m?
8345 m?

o gy a1 919 / SPACE FOR ROUGH WORK
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94.

95.

96.

Q9 N214ad , 4 QO TS 9, 6669 ‘a’
@ QAIN FJRY Q°GNYI 6966 629 7

(A) 3
B) 4
© 5
(D) 6

696 G200 QWG 2,3, 4,5 6 8 7 QIR
RIS QER, NUGEEE AAIQEN 1,2,3,4,5 8
0 (ge) cee ?

(A) 419
(B) 278
(C) 119
(D) 121

EqIT 000 Qe Qa1 A 126QA 6
Q99! 2 §. cR6R, YRIR 9QYEa 68T
ER6 7

(A) 3.95 m?
(B) 7.4 m?
(C) 197 m?
(D) 8.02 m?

94.

95.

96.

Page |20

SET -(A)

If 3214a4 is a number divisible by 4,
without leaving any remainder then the
number of possible values of a is :

(A) 3

(B) 4

€ 5

(D) 6

What is the smallest number which when
divided by 2, 3, 4, 5, 6 and 7 leaving
remainder 1, 2, 3, 4, 5 and 0 (zero)

respectively ?
(A) 419
(B) 278
<€) 119
(D) 121

The diameter of the base and height of a
cylinder are 1 m 12 cm and 2 m

respectively. What is its curved surface
Area ?

(A) 3.95 m?
(B) 7.04 m?
(C) 197 m?
(D) 8.02 m?

oa @iy 018 219 / SPACE FOR ROUGH WORK
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97.

98.

99.

98 5960 AB Q89 41 6269 x @ A
faeal

(A) 40°
(B) 50"
(C) 60°
(D) 80°

—

1,4,2,8,6,24,22,88, __ ,  oode
QHIGAER YN GHRRER 698 aT Qa)
e §nd O] eve 7
(A) 84, 258
(B) 86, 264

336

6090 6d6a 63881 9P @6Q QIF 7

(A) afna Ime

(B) 0e@qee gages dae
(C) uIeREae SRR

(D) Q6e IRe

97.

98.

99.

In the given figure, if AB is the diameter
of the circle, find the value of x.

(A) 40°

(B) 50°

(C) 60°

(D) 8o0°

1, 4,2, 8,6, 24, 22, 88, ’ =
In the given sequence of numbers, what
will be the next two values ?

(A) 84, 258
(B) 86, 264
(C) 84,336
(D) 86, 344

Which one does not signify the features
of Mathematics ?

(A) Science of Magnitude

(B) Science of Logical Reasoning
(€) Science of Behaviour

(D) Science of Calculation

o @idy aid A / SPACE FOR ROUGH WORK
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100. QUSE It 4R FLIeRea gogRer 9a26 | | 100.

a1 Qi 60% 6RIG TIQ 78 HQ EREED
SR 626R | 28 85 ¢4 6RIC AINT 6RIRAIN,
6669 ERIGER Q60 U@ 6RIT 62K ?

(A) 562
(B) 482
(C) 475
(D) 745

101. 6QITN QEN aBgea gden 28 Qe | 101

6960 7
(A) 4
(B) 5
(C) 6
(D) 7

102. c9l8Q IQ9a 60a odyaca dames | 102.

QIfide TINNGIRa Al AR 0856

eLiQaizNg ?

(A) QERQINIEER

(B) 9IQ @@y

SO0 aqudy

(D) Qaiga QI

Page |22

SET -(A]

Two candidates contested for a post in
an election. The winner secured 60% of
votes and won by 78 votes. [f 85 votes
were declared invalid, then what was the

number of polling ?
(A) 562
(B) 482

(C) 475
(D) 745

How many lines of symmetry are there
in a regular pentagon ?

(A) 4
(B) 5
() 6
D)y 7

Inwhich period of cognitive development,
children acquainted with Mathematical
conversation ?

(A) Sensory motor

(B) Pre-operation

(C) Concrete operation
(D) Formal operation

o @iy aiel 919 / SPACE FOR ROUGH WORK
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103,

104.

105.

PQRS @QEe9, P,Q R G S caig 06
3:7:6:4 UQDINER QLB, 6OEQ -

(A)
(B)
(©)
(D)

PS || QR
PQ || SR
PRI QS
PQ | QR

FOSYe MRIQ 6960 ade daiiea Boe
REVEY N9 QAN AIQ 99 LTINS
32109 Q6% ?

(A) gHNGRe 99
(B) €891 NN
(C) QFe edQ!
(D) 9Re

6AITN 980 5 20 04 Al | 62268

i = .1
12 e 0if @8 089 06a gata - zra

@@ 02QI | €069 62 QAT and HIPAS!
696F  6Q%6R 669 @9
eEaIae ?

(A) 36 4.
(B) 424.
(C) 48 4.
(D) 54 &.

103.

104.

105.

Page |23

SeT - (A

Ifangles P, Q, R and S of the quadrilateral
PQRS taken in order, are in the
ratio 3 : 7 : 6 : 4, then

(A) PSJIQR
(B) PQJ|SR
(C) PRJQS
(D) PQJIQR

Which one of the following is not linked
with aims of teaching Mathematics ?

(A)
(B)
(€)
(D)

Recognise
Classify
Infer

Understanding
23/ 38

A tank was 1—/2-“\ part filled with wate ™=

w

1
On adding 12 [ of water to it, EU\ of the

space was till left empty. What is the total -
quantity of water required to fill up the
tank when its empty ?

(A) 36 lit.
(B) 42 lit.
(C) 48 lit.
(D) 54 lit

0@ @Iy aIg A9 / SPACE FOR ROUGH WORK
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106. 6SITN MG DINGURS 6544, OR 8 Q90!

107,

gagen 12 4., 98. 6 8 A. | wWiIg F
3 8. o1 Qipdds cReeif ANDRER 0dae
SRUDIRDES 7

(A) 32
(B) 28
© 24

(D) 48

QIS CHRRIQ 12% AINER I SaITa! |
EULAITE T 240 AYQ Q106 §C
QATINYER, 15% AN CRARAIBI | 6669
EHRGITR B4 Q1N 6960 7

106.

107.

Page |24

SET -(A]

A metallic cuboid has length 12 m,
breadth 9 m and height 8 m. How many
cubes of edge 3 m can be cut out of it ?
(A) 32

(B) 28

€) 24

(D) 48

A toy was sold for a profit of 12%. If it
was sold for ¥ 2.40 more than it was sold
for, then profit would have been 15%,
What is the cost price of the toy ?

(A) T114 (A) 114
(B) T80 (B) T80
(€ T € T
(D) 75 (D) 75

o QIdy 91 219 / SPACE FOR ROUGH WORK
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SeT -(A)

108. QIE6QIT QA6 €AIT 9d6n 60109 1§ | 108. The paddy produce of 5 blocks are

aQIeR B9ogee gode | QraFen fIng depicted as A, B, C, D, E in the given
A, B,C, D, E 60 FRI0108 | E QR 2608 pie chart. If the produce of E is 40 quintal
C ]R6 KQI9F 40 JUQ, LY CAIRYER, more than C, then what is the total
A QR0 RV 6960 7 produce of A ?

(A) 672 faIR (A) 672 quintal
(B) 824 QIR (B) 824 quintal
25/ 38
(C) 762 R8N, (C) 762 quintal
(D) 912 GaiR (D) 912 quintal

e@ Qidy aig 819 / SPACE FOR ROUGH WORK
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SET - (A

109. D 109. D
108° Al )108°
8 51 AL
E < 0 E €
§R% ABC 681 ZDAC 4@ o919 614 | 00 In given AABC, ZDAC is the exterior
AB=AE 8 AE=EC 24, ZABE @ 98qié angle. If AB=AE and AE=EC,
6960 7 calculate ZABE :
(A) 18° (A) 18°
(B) 36° (B) 36°
(C) 48° (C) 48°
(D) 72° (D) 72°
110. HgQ €0 ofena Qad 5 8 5 QU6 | 110. Which of the following rational numbers
o , 7 "
72980 7 lies between 9 and - ['4
3 3
A 3 @ 3
15 15
(B) 16 (B) 16
12 12
© 1 1 © 77
o - 3
- @) %

e 1Y aIel 99 / SPACE FOR ROUGH WORK
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“uneel 6208 adoa @, @q a9
. geaien 629, A% IR TR Qe Pde
05R5] TeEe Q60" - A& aipa 7

(A) 69. Guee
(B) [AAR 20Q
(€)_Eeed

(D) &90Q 88Q

112. 0372 + 0.1363 Q F}94 6969 ?

3
N ==
41
B) 0
9
© 3
1
D) 3

113. QR MG 696E 9 ANGKNS % 6988

uee ? ' )
(A) Gds eea fyeIq daidie Fe8
EROIA Q6N QRUITIG 29

Foicha QRAEIRe! 8 58I AaRI A
dola edand |

agidha zndqQ *AQIREN |
Faicha anQyl AAIRIF @61 ANRER

oen fdaidqand |

(B)

©
(D)

111,

112.

113.
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seT-(A)

“ Abstraction is the strength of
Mathematics, but it will be useful if it
involves maximum number of specific
situations.” - Who said it 7

(A) J. Piaget

(B) Lipman Bers

(C) Hilbert

(D) James Jeans

What is the sum of 0.272 + 0.1363 ?

Which of—the following is the

characteristic of open ended questions ?

(A) Unavailability of specific answer
impairs a student’s ability to reach
ac ion.

(B) It improves the creativity and

thinking capacity of a student.

It reduces student’s self-confidence.

It is impossible to evaluate the

problem solving competency of a

student.

(€)
(D)

ag @idy aid @R/ SPACE FOR ROUGH WORK
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114. 6QUGN Q41, g5 1 A%6a 15 AGe ana

115.

TR EQHINM | 98 300 pm ERER VUG
@9i58q O] ana 60! &F 2IRINea
QY ST, 6069 6QF VYR 8:00 pm
ERI E99] ORE ANA 6REE CRINYSD 7
(A) 7 pm
(B) 6:45 pm
(C) 915 pm

(D) 7:30 pm

10a+5
H D G

@@ 966a AB||HG 626®, a @ AIF 6966 ?

(A) 15
(B) 2.5
(€ 7.5

(D) 5

114,

115.
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SET -(A ]

A clock shows 15 minutes extra time per
hour. If it is set at accurate value at
3:00 pm, what will be the actual time

when this clock shows 8:00 pm ?

(A) 7 pm
(B) 645 pm
(C) 9:15 pm
(D) 7:30 pm
E
A
5 B
H 10a+5 G

D

In the given figure, AB||HG. What is the
value of a ?

(A) 15
(B) 25
(C) 75

(D) 5

@ @idy aIg @19 / SPACE FOR ROUGH WORK
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16, 690F E9GES gqe §88 ewenig

117.

268 ?

(A) SR OB 8 QeQ Toe ebey

(B) TR ANQY Qe il Beg 0sd
geiof afe

(€) QEde Inegdq ol odel

QIE0R IR B YNITSY T
(Satal]

(D)

Fe Aug 696 ode daid ael W
QNRNRS QIFIGA QEF 7

edlad Qeagy aARIRe] 2RY

(A)
FRINIRG ARIAG SO

(B) GIEG® ZIEAISRIOY TIEASR a
QeaIe 69F

Scuion o1y Bde mrica daide

()
anQyl QoI DI AR 69/ RaR

(D) qee 88 arg 9ge aiel

116,

117,

Page |29

seT -(A]

Which is the specific behaviour of
understanding based questions ?

Identifying Mathematical
definitions and formula.

(A)

(B) Propose alternate methods for
solving Mathematical problems.
Verifying the results of
Mathematical generalizations.

(©)

Mathematical estimation and

verification of proofs.

(D)

Which of the following is not an example
of enrichment programme for a student
of Mathematics 7

(A) Helping fellow students in solving
problems.

(B) Providing opportunities to organize
Mathematical seminars.

(€) Attempting to solve problems of

students within school hours.

(D) Preparation of new teaching aids.

o @Idy aid AI9 / SPACE FOR ROUGH WORK
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